B H THX = % (ST
LI TN 9:05~9:15
—RH
% REFHEMAE X — 9:25~9:35
XKE | KRENQE 9:40~10:00
dx |[dKRESRT 10:05~10:20
5H13H X |EAE=FT 10:25~10:35
(K) A 13/1% AT 10:45~10:55
Eh |ERERAR 11:00~11:15
—0f |—0oBEELER 11:20~11:30
i | EERAR 13:05~13:15
EBS | i) ROKE 13:20~13:40
fENERO
TEE |TeEZ ENTHEERTER 9:05~9:15
tEH | feBEEtLy 22— 9:20~9:30
EK O O|EMET I =T —ErE— 9:35~9:45
'E’TE SREXBNFL Y 2 — 9:50~10:00
iR
5H140 INEELL /J\%m%é—:\ﬁﬁ 10:05~10:15
) By |EEREEtL - 10:20~10:30
E2  |EEZENTMEESIER 10:35~10:45
FRR | EE2RESM 10:50~11:00
HH |[FHEEL - 11:05~11:10
&
TRR |EMATKRSERE 11:20~11:50

(=




